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                                      -السؤال الثاني    : 

 3 4z i  

 

 

 4sin , 2y x x        

         

  

 

 

 

 

        

 

 

 

 

 

 

 

 

 

          

          

          

          

          

          

          

          



 

      -الث    :السؤال الث  

    

 

( ) sin(2 ) 4f x x   
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z=3+4iz=-3+4iba
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7060509cm 

a ) 11cm                 b) 11.5 cm         c) 12cm         d)  12.5 cm                  

5z=i   
250z

a ) – i                         b) i                      c)1                 d)-1                              
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i=

a) 5                           b) 6                      c)1                 d) -1                              
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y = -2cosx   

          d) 7212           b) 6                       c)   a) -
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f(x)= -sin(x-5) g(x)=sinx 
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